EXRBICE T L EEEROHER (B : %)

1. &%5E
[ DI{E ]
40
——3nAmen 20 .
te# -
- BEOES
&y
—A— 3HA%®D
RiEL
78 8A 98 10A 1B 12B 1B 2B 3B 48 58 6A 7H
4% R44E R54F
7 78 88 98 10B 1B 12R 1B 2B 38 4A 5B 6A 1A
3HBRTE DB 70 00 -28 -71 -43 -114 -332 -169 2.1 50 7.8 5.7 7.9
RENELBY -78 -101 -99 -142 -130 -137 -134 -149 -79 -51 -71 -64 -29
3HAXRDREEL | -63 -71 -64 -340 -266 -100 4.2 49 -07 137 8.5 14 101

1/3



1) DIA
40
—o— 3HARFIL 20
D LE#%
-B- BEDE 0
&Y
—k— 3hA% B
DOREL
R4%E
78 8H 9A 108 1A 128 18 2H 3H 4H 5H 6H 78
X AN R4 R54E
7 78 8A 9A 10A 1A 12 1B 2R 38 4A 5B 68 1A
3HARTE DB 00 -65 -128 -208 26 -90 -359 -273 -77 -52 -51 26 26
REDESRY -105 -158 -115 -169 -120 -143 -143 -145 -78 -105 -130 -130 -7.9
3hARORBEL | -13 -13 00 -273 -171 -51 -13 39 -13 104 5.1 00 117
3. B#%
1) DI{&
40
—— 3HAMED
e p
B REOESE (b
Y /
£
—A— 3HAXEDR 9o
‘L
-40
R4
7H 8H 9A 108 1A 128 18 2H 3A 4H 5H 6H 7H
X 4 R4S RS54
78 88 98 108 118 128 18 28 3R 48 58 68 78
3HAREDEE | 125 125 125 00 125 -125 -375 00 250 -125 00 125 375
REDEERY 0.0 0.0 0.0 00 -125 0.0 0.0 0.0 00 125 0.0 0.0 0.0
3HB%RORBEL | -125 250 -250 -250 -125 00 -250 -125 -375 250 125 125 125

2/3



4. INSE

1) DIA
60
—— 3HAHEIED 40
b8 20
- BENES 0
By
-20
—A— 3HB%RDR
10 -40
-60
R44E R54F
7R 8H 9H 108 1A 128 18 2H 3H 48 5H 6H 7R
X 4 RA%E RS54
7 78 8A 9A 10A 1A 12 1B 2R 38 4A 5B 68 1A
3HAMEDLE | 45 -95 -95 -91 -227 -381 -455 -364 -200 -48 -48 143 100
REDESRY -9.1 00 -95 -182 -227 -190 -273 -273 -150 -95 -95 0.0 0.0
3hB%RORBEL | -182 -286 -143 -500 -455 -333 -455 -13.6 -10.0 95 -48 -95 -50
5. Y—ER%
1) DI{&E

—— 3KAFED

J 185
-l REOES
2y
—A- 3NAROR N d
&L -40 & &
-60
R4LE R54E
78 8H 9H 108 1A 128 18 2R 3H 4H 5H 6H 78
=3 AN R4 R54E
7 78 8A 9A 10A 1A 12 1B 2R 38 4A 5B 68 1A
3HARIEDLLE | 286 176 206 235 -12.1 00 -143 143 324 394 471 176 235
BEDESKRY 29 -59 -88 -88 -91 -121 -57 -114 -59 6.1 5.9 2.9 5.9
3HA%XDREEL | -86 -147 -118 -412 -394 -91 200 229 147 212 235 88 147

3/3



